

Volume 10, Number 1, 2024, 19-25

UNCERTAINTY RELATION FOR Q-COMMUTATOR

KENJIRO YANAGI

ABSTRACT. We show that an uncertainty relation for Wigner-Yanase-Dyson skew information proved by Yanagi [5] can be extended for q-commutator which is defined by $[A, B]_q = AB - qBA$, where A, B are self-adjoint operators and q > 0.

1. Introduction

Wigner-Yanase skew information

$$I_{\rho}(H) = \frac{1}{2}Tr\left[\left(i\left[\rho^{1/2}, H\right]\right)^{2}\right]$$
$$= Tr[\rho H^{2}] - Tr[\rho^{1/2}H\rho^{1/2}H]$$

was defined in [4]. This quantity can be considered as a kind of the degree for noncommutativity between a quantum state ρ and an observable H. Here we denote the commutator by [X,Y] = XY - YX. This quantity was generalized by Dyson

$$\begin{split} I_{\rho,\alpha}(H) &= \frac{1}{2} Tr[(i[\rho^{\alpha}, H])(i[\rho^{1-\alpha}, H])] \\ &= Tr[\rho H^2] - Tr[\rho^{\alpha} H \rho^{1-\alpha} H], \alpha \in [0, 1] \end{split}$$

which is known as the Wigner-Yanase-Dyson skew information. It is well known that Heisenberg uncertainty relation is represented by the commutator in the following.

Theorem 1.1. Let ρ be a density operator and A, B be self-adjoint operators. Then the following uncertainty relation holds.

(1.1)
$$\frac{1}{4}|Tr[\rho[A,B]]|^2 \le V_{\rho}(A)V_{\rho}(B),$$

where
$$V_{\rho}(A) = Tr[\rho A^2] - (Tr[\rho A])^2$$
.

Luo [3] gave an extension of (1.1) in the following.

Theorem 1.2. Let ρ be a density operator and A, B be self-adjoint operators. Then the following uncertainty relation holds.

(1.2)
$$\frac{1}{4}|Tr[\rho[A,B]]|^2 \le U_{\rho}(A)U_{\rho}(B),$$

where
$$A_0 = A - Tr[\rho A]I$$
, $I_{\rho}(A) = \frac{1}{2}Tr[(i[\rho^{1/2}, A_0])^2]$, $J_{\rho}(A) = \frac{1}{2}Tr[\{\rho^{1/2}, A_0\}^2] = \frac{1}{2}Tr[(\rho^{1/2}A_0 + A_0\rho^{1/2})^2]$, and $U_{\rho}(A) = \sqrt{I_{\rho}(A)J_{\rho}(A)}$.

²⁰²⁰ Mathematics Subject Classification. Primary 47A50, Secondary 9A17, 81P15.

Key words and phrases. q-Commutator, Heisenberg uncertainty relation.

This work was partially supported by JPSP KAKENHI Grant number 19K03525.

Furthermore Yanagi [5] gave an extension of (1.2) in the following.

Theorem 1.3. Let ρ be a density operator and A, B be self-adjoint operators. Then for $0 \le \alpha \le 1$ the following uncertaity relation holds.

(1.3)
$$\alpha(1-\alpha)|Tr[\rho[A,B]]|^2 \le U_{\rho,\alpha}(A)U_{\rho,\alpha}(B),$$

where
$$A_0 = A - Tr[\rho A]I$$
, $I_{\rho,\alpha}(A) = \frac{1}{2}Tr[(i[\rho^{\alpha}, A_0])(i[\rho^{1-\alpha}, A_0])]$, $J_{\rho,\alpha}(A) = \frac{1}{2}Tr[\{\rho^{\alpha}, A_0\}\{\rho^{1-\alpha}, A_0\}]$ and $U_{\rho,\alpha}(A) = \sqrt{I_{\rho,\alpha}(A)J_{\rho,\alpha}(A)}$.

In this paper we have several extensions for generalized Heisenberg uncertainty relation (1.3) by using q-commutator.

2. Q-COMMUTATOR

Let $B(H), B(H)_s$ and S(H) be the set of all bounded linear operators on Hilbert space H, the set of all self-adjoint operators and the set of all density operators. For $A, B \in B(H)_s$, we define commutator and anti-commutator by [A, B] = AB - BA and $\{A, B\} = AB + BA$, respectively. q-commutator and q-anti-commutator are defined by $[A, B]_q = AB - qBA$ and $\{A, B\}_q = AB + qBA$, respectively, where $q \in \mathbb{R}$ and $A, B \in B(H)_s$. q-commutator is a generalization of commutator [A, B].

Definition 2.1. Let $\rho \in S(H)$, $A, B \in B(H)_s$, $0 \le \alpha \le 1$ and q > 0.

(1)
$$I_{\rho,\alpha}^q(A) = \frac{1}{2} Tr[(i[\rho^{\alpha}, A_0]_q)(i[\rho^{1-\alpha}, A_0]_{1/q})].$$

(2)
$$J_{\rho,\alpha}^q(A) = \frac{1}{2} Tr[\{\rho^\alpha, A_0\}_q \{\rho^{1-\alpha}, A_0\}_{1/q}].$$

(3)
$$U_{\rho,\alpha}^q(A) = \sqrt{I_{\rho,\alpha}^q(A)J_{\rho,\alpha}^q(A)}$$
.

Now we state the properties of $I_{\rho,\alpha}^q(A)$ and $J_{\rho,\alpha}^q(A)$.

Proposition 2.2. Let $\rho = \sum_{i=1}^{\infty} \lambda_i |\phi_i\rangle \langle \phi_i|$ be the spectral decomposition of ρ and let $a_{ij} = \langle \phi_i | A_0 | \phi_j \rangle$

$$(1) I_{\rho,\alpha}^q(A) = \frac{1}{2} \sum_{i,j} \left\{ \left(q + \frac{1}{q} \right) \frac{\lambda_i + \lambda_j}{2} - \left(\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha} \right) \right\} |a_{ij}|^2.$$

$$(2) J_{\rho,\alpha}^{q}(A) = \frac{1}{2} \sum_{i,j} \left\{ \left(q + \frac{1}{q} \right) \frac{\lambda_i + \lambda_j}{2} + \left(\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha} \right) \right\} |a_{ij}|^2.$$

Proof. (1)

$$\begin{split} I_{\rho,\alpha}^{q}(A) &= \frac{1}{2} Tr[(i[\rho^{\alpha}, A_{0}]_{q})(i[\rho^{1-\alpha}, A_{0}]_{1/q})] \\ &= -\frac{1}{2} Tr\left[(\rho^{\alpha} A_{0} - q A_{0} \rho^{\alpha}) \left(\rho^{1-\alpha} A_{0} - \frac{1}{q} A_{0} \rho^{1-\alpha}\right)\right] \\ &= -\frac{1}{2} Tr\left[\rho^{\alpha} A_{0} \rho^{1-\alpha} A_{0} - \frac{1}{q} \rho^{\alpha} A_{0}^{2} \rho^{1-\alpha} - q A_{0} \rho A_{0} + A_{0} \rho^{\alpha} A_{0} \rho^{1-\alpha}\right] \end{split}$$

$$= Tr\left[\frac{1}{2}\left(q + \frac{1}{q}\right)\rho A_0^2 - \rho^{\alpha}A_0\rho^{1-\alpha}A_0\right]$$

$$= \sum_{i,j} \frac{1}{2}\left(q + \frac{1}{q}\right)\lambda_i|a_{ij}|^2 - \sum_{i,j}\lambda_i^{\alpha}\lambda_j^{1-\alpha}|a_{ij}|^2$$

$$= \frac{1}{2}\sum_{i,j} \left\{\left(q + \frac{1}{q}\right)\frac{\lambda_i + \lambda_j}{2} - \left(\lambda_i^{\alpha}\lambda_j^{1-\alpha} + \lambda_i^{1-\alpha}\lambda_j^{\alpha}\right)\right\}|a_{ij}|^2.$$

(2)
$$J_{\rho,\alpha}^{q}(A) = \frac{1}{2}Tr[\{\rho^{\alpha}, A_{0}\}_{q}\{\rho^{1-\alpha}, A_{0}\}_{1/q}]$$

$$= \frac{1}{2}Tr\left[(\rho^{\alpha}A_{0} + qA_{0}\rho^{\alpha})\left(\rho^{1-\alpha}A_{0} + \frac{1}{q}A_{0}\rho^{1-\alpha}\right)\right]$$

$$= \frac{1}{2}Tr\left[\rho^{\alpha}A_{0}\rho^{1-\alpha}A_{0} + \frac{1}{q}\rho^{\alpha}A_{0}^{2}\rho^{1-\alpha} + qA_{0}\rho A_{0} + A_{0}\rho^{\alpha}A_{0}\rho^{1-\alpha}\right]$$

$$= Tr\left[\frac{1}{2}\left(q + \frac{1}{q}\right)\rho A_{0}^{2} + \rho^{\alpha}A_{0}\rho^{1-\alpha}A_{0}\right]$$

$$= \sum_{i,j} \frac{1}{2}\left(q + \frac{1}{q}\right)\lambda_{i}|a_{ij}|^{2} + \sum_{i,j}\lambda_{i}^{\alpha}\lambda_{j}^{1-\alpha}|a_{ij}|^{2}$$

$$= \frac{1}{2}\sum_{i} \left\{\left(q + \frac{1}{q}\right)\frac{\lambda_{i} + \lambda_{j}}{2} + (\lambda_{i}^{\alpha}\lambda_{j}^{1-\alpha} + \lambda_{i}^{1-\alpha}\lambda_{j}^{\alpha})\right\}|a_{ij}|^{2}.$$

We need the following lemma in order to prove the main theorem.

Lemma 2.3. For $0 \le \alpha \le 1$, t > 0 and q > 0, the following inequality holds.

$$(2.1) (1 - 2\alpha)^2 (qt - 1)^2 - (q^{\alpha}t^{\alpha} - q^{1-\alpha}t^{1-\alpha})^2 \ge 0.$$

Proof. Let
$$F(t) = (1 - 2\alpha)^2 (qt - 1)^2 - (q^{\alpha}t^{\alpha} - q^{1-\alpha}t^{1-\alpha})^2$$
. We have
$$F'(t) = 2(1 - 2\alpha)^2 q(qt - 1) - 2(q^{\alpha}t^{\alpha} - q^{1-\alpha}t^{1-\alpha})(\alpha q^{\alpha}t^{\alpha-1} - (1 - \alpha)q^{1-\alpha}t^{-\alpha})$$
$$= 2(1 - 2\alpha)^2 q(qt - 1) - 2\alpha q^{2\alpha}t^{2\alpha-1} + 2(1 - \alpha)q$$
$$+ 2\alpha q - 2(1 - \alpha)q^{2(1-\alpha)}t^{1-2\alpha}.$$
$$F''(t) = 2(1 - 2\alpha)^2 q^2 - 2\alpha(2\alpha - 1)q^{2\alpha}t^{2\alpha-2} - 2(1 - \alpha)(1 - 2\alpha)q^{2(1-\alpha)}t^{-2\alpha}.$$
$$F'''(t) = -2\alpha(2\alpha - 1)(2\alpha - 2)q^{2\alpha}t^{2\alpha-3} + 4(1 - \alpha)(1 - 2\alpha)\alpha q^{2(1-\alpha)}t^{-2\alpha-1}$$
$$= 4\alpha(1 - \alpha)(1 - 2\alpha)\left\{\frac{q^{2(1-\alpha)}}{t^{2\alpha+1}} - \frac{q^{2\alpha}}{t^{3-2\alpha}}\right\}.$$

When $1-2\alpha>0$, $F^{'''}(t)\geq 0$ is equivalent to $t\geq q^{-1}$ and $F^{'''}(t)<0$ is equivalent to $t< q^{-1}$. Since $F^{''}(q^{-1})=0$, we have $F^{''}(t)>0$ for t>0. When $1-2\alpha<0$,

 $F'''(t) \geq 0$ is equivalent to $t \geq q^{-1}$ and F'''(t) < 0 is equivalent to $t < q^{-1}$. Since $F''(q^{-1}) = 0$, we have F''(t) > 0 for t > 0. And since $F'(q^{-1}) = 0$, we have F'(t) < 0 for $t < q^{-1}$ and F'(t) > 0 for $t > q^{-1}$. Since $F(q^{-1}) = 0$, we have $F(t) \geq 0$ for t > 0. Then we have the result.

We obtain the main theorem.

Theorem 2.4. Let $\rho \in S(H)$, $A, B \in B(H)_s$ and $0 \le \alpha \le 1$. If $0 < q \le 1$, then $\alpha(1-\alpha)|Tr[\rho[A_0, B_0]_q]|^2 \le U_{q,\alpha}^q(A)U_{q,\alpha}^q(B)$,

where
$$A_0 = A - Tr[\rho A]I$$
 and $B_0 = B - Tr[\rho B]I$. If $q > 1$, then
$$\alpha(1 - \alpha)|Tr[\rho[A_0, B_0]_q]|^2 \le q^2 U_{\rho, 1-\alpha}^q(A) U_{\rho, 1-\alpha}^q(B).$$

Proof. We put $t = \frac{\lambda_j}{\lambda_i}$ in (2.1). Then we have

$$(1-2\alpha)^2 \left(q\frac{\lambda_j}{\lambda_i}-1\right)^2 - \left(q^\alpha \left(\frac{\lambda_j}{\lambda_i}\right)^\alpha - q^{1-\alpha} \left(\frac{\lambda_j}{\lambda_i}\right)^{1-\alpha}\right)^2 \ge 0.$$

And we get

$$(1 - 2\alpha)^2 (q\lambda_j - \lambda_i)^2 - (q^\alpha \lambda_i^\alpha \lambda_i^{1-\alpha} - q^{1-\alpha} \lambda_i^{1-\alpha} \lambda_i^\alpha)^2 \ge 0$$

and

$$(q\lambda_j - \lambda_i)^2 - (q^\alpha \lambda_i^\alpha \lambda_i^{1-\alpha} - q^{1-\alpha} \lambda_i^{1-\alpha} \lambda_i^\alpha)^2 \ge 4\alpha (1-\alpha)(q\lambda_j - \lambda_i)^2$$

and

$$(q\lambda_j + \lambda_i)^2 - (q^\alpha \lambda_j^\alpha \lambda_i^{1-\alpha} + q^{1-\alpha} \lambda_j^{1-\alpha} \lambda_i^\alpha)^2 \ge 4\alpha (1-\alpha)(q\lambda_j - \lambda_i)^2.$$

Then

$$\begin{split} 2\sqrt{\alpha(1-\alpha)}|\lambda_i - q\lambda_j| &\leq \{(\lambda_i + q\lambda_j)^2 - (q^\alpha \lambda_j^\alpha \lambda_i^{1-\alpha} + q^{1-\alpha} \lambda_j^{1-\alpha} \lambda_i^\alpha)^2\}^{1/2} \\ &= (\lambda_i + q\lambda_j - q^\alpha \lambda_j^\alpha \lambda_i^{1-\alpha} - q^{1-\alpha} \lambda_j^{1-\alpha} \lambda_i^\alpha)^{1/2} \\ &\qquad \qquad (\lambda_i + q\lambda_j + q^\alpha \lambda_j^\alpha \lambda_i^{1-\alpha} + q^{1-\alpha} \lambda_j^{1-\alpha} \lambda_i^\alpha)^{1/2}. \end{split}$$

Since

$$Tr[\rho[A_0, B_0]_q] = \sum_{i,j} (\lambda_i - q\lambda_j) \langle \phi_i | A_0 | \phi_j \rangle \langle \phi_j | B_0 | \phi_i \rangle,$$

we have

$$\begin{aligned} &\alpha(1-\alpha)|Tr[\rho[A_0,B_0]_q]|^2\\ &\leq \alpha(1-\alpha)\left\{\sum_{i,j}|\lambda_i-q\lambda_j||a_{ij}||b_{ji}|\right\}^2\\ &=\frac{1}{4}\left\{\sum_{i,j}2\sqrt{\alpha(1-\alpha)}|\lambda_i-q\lambda_j||a_{ij}||b_{ji}|\right\}^2 \end{aligned}$$

$$\leq \frac{1}{4} \left\{ \sum_{i,j} \{ (\lambda_i + q\lambda_j)^2 - (q^{\alpha} \lambda_j^{\alpha} \lambda_i^{1-\alpha} + q^{1-\alpha} \lambda_j^{1-\alpha} \lambda_i^{\alpha})^2 \}^{1/2} |a_{ij}| |b_{ji}| \right\}^2$$

$$\leq \frac{1}{2} \left\{ \sum_{i,j} (\lambda_i + q\lambda_j - q^{\alpha} \lambda_j^{\alpha} \lambda_i^{1-\alpha} - q^{1-\alpha} \lambda_j^{1-\alpha} \lambda_i^{\alpha})) |a_{ij}|^2 \right\}$$

$$\times \frac{1}{2} \left\{ \sum_{i,j} (\lambda_i + q\lambda_j + q^{\alpha} \lambda_j^{\alpha} \lambda_i^{1-\alpha} + q^{1-\alpha} \lambda_j^{1-\alpha} \lambda_i^{\alpha})) |b_{ji}|^2 \right\}$$

$$= \frac{1}{2} \left\{ \sum_{i,j} \left((1+q) \frac{\lambda_i + \lambda_j}{2} - \frac{q^{\alpha} + q^{1-\alpha}}{2} (\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha})) |a_{ij}|^2 \right\}$$

$$\times \frac{1}{2} \left\{ \sum_{i,j} (1+q) \frac{\lambda_i + \lambda_j}{2} + \frac{q^{\alpha} + q^{1-\alpha}}{2} (\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha})) |b_{ji}|^2 \right\}$$

$$\leq \frac{1}{2} \left\{ \sum_{i,j} \left(\left(q + \frac{1}{q} \right) \frac{\lambda_i + \lambda_j}{2} - (\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha}) \right) |a_{ij}|^2 \right\}$$

$$\times \frac{1}{2} \left\{ \sum_{i,j} \left(\left(q + \frac{1}{q} \right) \frac{\lambda_i + \lambda_j}{2} + (\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha}) \right) |b_{ji}|^2 \right\}.$$

Because the last inequality is given by the following inequality. Since $0 < q \le 1$,

$$\left(q + \frac{1}{q} - 1 - q\right) \frac{\lambda_i + \lambda_j}{2} - \left(1 - \frac{q^{\alpha} + q^{1-\alpha}}{2}\right) (\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha})$$

$$\geq \left(\frac{1}{q} - 1\right) \frac{\lambda_i + \lambda_j}{2} - \left(1 - \frac{q^{\alpha} + q^{1-\alpha}}{2}\right) (\lambda_i + \lambda_j)$$

$$= \left(\frac{1}{q} - 1\right) \frac{\lambda_i + \lambda_j}{2} - \left(2 - q^{\alpha} - q^{1-\alpha}\right) \frac{\lambda_i + \lambda_j}{2}$$

$$= \left(\frac{1}{q} - 3 + q^{\alpha} + q^{1-\alpha}\right) \frac{\lambda_i + \lambda_j}{2}$$

$$\geq \left(\frac{1}{q} - 3 + 2q^{1/2}\right) \frac{\lambda_i + \lambda_j}{2}$$

$$= \frac{(q^{1/2} - 1)^2 (2q^{1/2} + 1)}{q} \frac{\lambda_i + \lambda_j}{2} \geq 0.$$

Similarly we have

$$\left(q + \frac{1}{q} - 1 - q\right) \frac{\lambda_i + \lambda_j}{2} + \left(1 - \frac{q^{\alpha} + q^{1-\alpha}}{2}\right) \left(\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha}\right)
= \left(\frac{1}{q} - 1\right) \frac{\lambda_i + \lambda_j}{2} + \left(1 - \frac{q^{\alpha} + q^{1-\alpha}}{2}\right) \left(\lambda_i^{\alpha} \lambda_j^{1-\alpha} + \lambda_i^{1-\alpha} \lambda_j^{\alpha}\right) \ge 0.$$

Then we have

$$\alpha(1-\alpha)|Tr[\rho[A_0, B_0]_q]|^2 \le I_{q,\alpha}^q(A)J_{q,\alpha}^q(B).$$

We also have

$$\alpha(1-\alpha)|Tr[\rho[A_0, B_0]_q]|^2 \le J_{\rho,\alpha}^q(A)I_{\rho,\alpha}^q(B).$$

Hence when $0 < q \le 1$, we obtain

$$\alpha(1-\alpha)|Tr[\rho[A_0, B_0]_q]|^2 \le U_{\rho,\alpha}^q(A)U_{\rho,\alpha}^q(B).$$

On the other hand when q > 1, we have

$$\alpha(1-\alpha)|Tr[\rho[A_0,B_0]_{1/q}]|^2 \le U_{\rho,\alpha}^{1/q}(A)U_{\rho,\alpha}^{1/q}(B) = U_{\rho,1-\alpha}^q(A)U_{\rho,1-\alpha}^q(B).$$

Since $[A_0, B_0]_q = -q[B_0, A_0]_{1/q}$, we have

$$\alpha(1-\alpha)|Tr[\rho[A_0, B_0]_q]|^2 = q^2\alpha(1-\alpha)|Tr[\rho[B_0, A_0]_{1/q}]|^2$$

$$\leq q^2 U_{\rho, 1-\alpha}^q(A) U_{\rho, 1-\alpha}^q(B).$$

When q=1 in Theorem 2.4, we get Theorem 1.3. And by putting $\alpha=\frac{1}{2}$, we have the following.

Corollary 2.5. Let $\rho \in S(H)$, $A, B \in B(H)_s$. For q > 0 we have the following.

$$\frac{1}{4}|Tr[\rho[A_0, B_0]_q]|^2 \le \max\{1, q^2\} U_{\rho, \frac{1}{2}}^q(A) U_{\rho, \frac{1}{2}}^q(B).$$

By defining $[[A, B]] = \frac{1}{2}\{[A_0, B_0]_q - [B_0, A_0]_q\} = \frac{1+q}{2}[A_0, B_0]$, we have the following theorem. We omit the proof.

Theorem 2.6. For $0 \le \alpha \le 1$ and q > 0, the following inequality holds.

$$\alpha(1-\alpha)|Tr[\rho[[A_0, B_0]]]|^2 \le \left(\frac{1+q}{2}\right)^2 U_{\rho,\alpha}(A)U_{\rho,\alpha}(B).$$

Remark 2.7. We define $I_{\rho,\alpha}^q(A)$, $J_{\rho,\alpha}^q(A)$ and $U_{\rho,\alpha}^q(A)$ as the following. For $\rho \in S(H)$, $A, B \in B(H)_s$, $0 \le \alpha \le 1$ and q > 0,

(1)
$$I_{\rho,\alpha}^q(A) = \frac{1}{2} Tr[(i[\rho^\alpha, A_0]_q)(i[\rho^{1-\alpha}, A_0]_q)].$$

(2)
$$J_{\rho,\alpha}^q(A) = \frac{1}{2} Tr[\{\rho^{\alpha}, A_0\}_q \{\rho^{1-\alpha}, A_0\}_q].$$

(3)
$$U_{\rho,\alpha}^q(A) = \sqrt{I_{\rho,\alpha}^q(A)J_{\rho,\alpha}^q(A)}$$
.

Then the corresponding uncertainty relation does not hold even if we choose the appropriate q > 0.

References

- [1] R. J. Finkerstein, q-uncertainty relations, J. Modern Physics, A 13 (1998), 1795–1803.
- [2] W. Heisenberg, Über den anschaulichen Inhat der quantummechanischen Kinematik und Mechanik, Zeitschrift für Physik 43 (1927), 172–198.
- [3] S. Luo, Heisenberg uncertainty relation for mixed states, Phys. Rev. A 72 (2005): 042110.
- [4] E. P. Wigner and M. M. Yanase, Information content of distribution, Proc. Nat. Acad. Sci. U,S,A. 49 (1963), 910–918.
- [5] K. Yanagi, Uncertainty relation on Wigner-Yanase-Dyson skew information, J. Math. Anal. Appl. **365** (2010), 12–18.
- [6] K. Yanagi, Uncertainty relation on generalized Wigner-Yanase-Dyson skew information, Linear Algebra and its Applications 433 (2010), 1524–1532.

Manuscript received 21 June 2024 revised 29 November 2024

K. Yanagi

Emeritus Professor of Yamaguchi University, 2-16-1, Tokiwadai, Ube, 755-8611, Japan *E-mail address*: yanagi@yamaguchi-u.ac.jp